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internal class Program {

static void Main(string[] args) {
float p = 5.5f;

int r = calc_square(p);
Console.WriteLine(String.Format("Result:{0}", r));

}

static int calc_square (float param) {

int result = (int)(param * param);
return result;

}
(=)
static void Main(string[] args) {
float rate = 2.5f;

float amount = 10f;
computing(rate, ref amount);
Console.WriteLine(

String.Format("Rate: {0}, Amount: {1}", rate, amount));

static void computing(float rate, ref float amt) {
rate *= 10;

amt *= rate;
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(—)Result:30
(Z)Rate: 2.5, Amount: 250
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1 | leticonList =[];
2
3 | for (const extld of fs.Is("/extension")) {
4 let extension = fs.read('/extension/${extld}/extension.js’);
5 ext = eval(extension);
6 iconList.push(fs.read('/extension/${extld}/${ext.icon}));
21}
8
9 | for (const [index, element] of Object.entries($("span .treelcon™))) {
10 if (typeof element === "object") {
11 $(element).append(’<img src="${iconList[index]}" >°);
12 }
13 |}
()M TRSBFERFLERP T NESE
1 | <button onclick="dialog()">Confirm</button>
2 | <pid="result"></p>
3 | <script>
4 window.addEventListener(‘load’, function () {
5 alert('Hello!);
6 )
7
8 function dialog()
9 {
10 var
1 message;
12 if (confirm("Press a button!")) {
13 message = "You pressed OK!";
14 } else {
15 message = "You pressed Cancel!”;
16 }
17 document.getElementByld("result").innerHTML = message;
}
</script>
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let iconList = [];
Il SEEY E $%lextension N FrA A 2 5 H §5%
for (const extld of fs.Is("/extension™)) {
Il zEHl/extension/${extld}/extension.jstE Z&
let extension = fs.read("/extension/${extld}/extension.js);
Il ghiTextensionZEE A HIHE <
ext = eval(extension);
Il zEH/extension/${extld}/${ext.icon}{& il AiconList[H%I] A
iconList.push(fs.read("/extension/${extld}/${ext.icon}));

}

Il EHUEE s span IS 51 treel confy B}
for (const [index, element] of Object.entries($("span .treelcon™))) {

I AR E Y elementZ )4 HYEE

I ¥ [EfE e EsE <img sre="${iconList[index]}" >Jji%elementtZ
$(element).append("<img src="${iconList[index]}" >);

}
(=)

{7 Mz i #dialog()

<button onclick="dialog()">Confirm</button>

& 3 C (@ #% | /users/charly/Downloads/temp/index.html
L tE2 - Get Cloud Ex 3: The iris BE... scikit-learn: machi... The .. o atlir
- & » O™ rmeEsmT

| Confirm | Press a button!

<p id="result"></p>

<script>

S B ETES O N AR R Hello!
window.addEventListener(‘'load’, function () {
alert('Hello!");

b))

he

Hello!

ptlin

function dialog() {
var message;
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REURHERD AR AT - ASR% THEE > AIBURTE 5 "You pressed OK!"
if (confirm(""Press a button!")) {
message = "You pressed OK!";

Confirm

You pressed OK!

}else {
WIS THUH - AIBERF-5"You pressed Cancel!”
message = "You pressed Cancel!";

Confirm

You pressed Cancel!

}

document.getElementByld("result").innerHTML = message;
}
</script>
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package com.abc;
import java.util.Scanner;
public class Test {

public static void main(String[] args) {
double sum = 0;
double ave = 0.0;
double varNum = 0.0;
double stanDev = 0.0;

Scanner sc = new Scanner(System.in);

String inputString = sc.nextLine();

String stringArray[] = inputString.split(" ™);

int num[] = new int[stringArray.length];

for (inti=0; i < stringArray.length; i++) {
num[i] = Integer.parselnt(stringArrayf[i]);
sum+=num[i];

}

ave = sum / num.length;
double squareSum = 0;
for (inti =0; i < num.length; i++) {

}

varNum = squareSum / num.length;
stanDev = Math.sqrt(squareSum/(num.length));

squareSum += ((num[i]-ave) * (hum[i]-ave));

System.out.printf("sT. % T 5= 5 =%.2f\n", ave);

System.out.printf(" s % £ #ic= 5 =%.2f\n", varNum);
System.out.printf("FL & & X = 4 = %.2f\n", stanDev);

String level =
for (inti =0; i < num.length; i++) {
level =
if(num[i]>=ave+2*stanDev)
level ="A";
else if(num[i]>=ave+stanDev)
level = "B";
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else if(num[i]>=ave)

level ="C";
else if(num[i]>=ave-stanDev)
level ="D";
else if(num[i]>=ave-2*stanDev)
level ="E";
else
level = "F";
System.out.printin(" % " + (i+1) + " =5 2 o A Fl L HF="+num[i] +", 5 $ =5 level);
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st mmem e | AREEDYthoNGE = FIACRIEIR U - pythonf£46 B AE /) EIFHIAYSE - e =X fmatplotlibt ol b1
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import matplotlib.pyplot as plt
import numpy as np
from matplotlib import font_manager

R
my_font = font_manager.FontProperties(fname="./NotoSerifTC-Black.otf")

y = np.array([65, 97, 103, 45, 51])
mylabeIS: ["?E,‘ /%j non 5 2 n n_g gn n /5;\ n ";tt ,#. 7 % > n]

patches,|_text,p_text = plt.pie(y, labels = mylabels, autopct="%1.2f%%")
fortin|_text:
t.set_fontproperties(my_font) # = % B < 3% = ¢ < 5 4|

plt.show()
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class Employee:
all =[]

def  init (self, idno, first_name,

last_name): self.id = idno
self.first_name = first_name

self.last_name = last_name
Employee.all.append(self)

def__repr__(self):
return f'(ID={self.id}, Name={self.first_name} {self.last_name})"

if _name__=="_main_"™
el = Employee('001', 'Peter’, ‘Lee")
e2 = Employee('002', 'Ann', 'L0"
print(Employee.all)
()™ 5 CHendgw 42375 » #7%] Employee P e =% ¥ i d 2
WAL AZSN R R T BRI R RN TR FR R AN -
public abstract class Employee {
private string id;
private string name;

LR ARF NP B~ o

private int age;
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public Employee() {
¥

public class Staff : Employee {
public Staff(string _id, string _name, int _age) {
this.id = _id;
this.name = _name;
this.age = _age;

¥
ShEETAR AFETEpythonEACHE Y28 [F15E > pythonf5-REA S __repr__ > CHEZGHTZE K T HIMER
PSR I > WY RIAYEE S KR B ST AR B T Y - RIS A il DU 7y
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(—)
[(ID=001, Name=Peter Lee), (ID=002, Name=Ann Lo)]

(=)

public abstract class Employee {
protected string id;
protected string name;
protected int age;
public Employee() {
}

}
public class Staff : Employee {
public Staff(string _id, string _name, int _age) {
this.id = _id;
this.name = _name;
this.age = _age;
}
}

« public : FRIARL & 0T HAEE TS EA 2ZE B H T R iy MRS -

- private : FRIA R & HEEHHE classFH YA S BSFHL -

- protected : SN Bk & H AE HAH[E] classEUE 748 H #% classty T BIFTfFHL -

- internal : BFIA B & ] EAHETC PR TR ESFEL > ([HEERE S —(E T TR
- protected internal : FFHURA H AT T4 BB SRRV ER]

- private protected : {FEUSRF H AT ESERETAE BB E&BHIER] -

—-8--




(st atess | IEEEE

=1 mah el AR ER

1% b Eia i |

ERNEEER —Eﬁi% HE%E ?ﬁ%ﬁﬁ%ﬁﬁﬁ%&ﬂ%iﬁfﬁ% 2
FRRAE 77 QU sk sA AR RA B BREE SE0F SR S AR AR

ERRIE

i e & | EE)
B (EX/B&) | BRI 600
U2 CGRIBR B = A s i E FR 620 [
B (ESOEE LT E FR 520 e[ B i
EX/AX EIEGE={E) 480 ' [ 8. 7
34 B3R 520 H
=k TEE 550 b
et o] EES 620
HHAEE FH 680
BEHERER BEx 680
RIEHER RoE | 620
EHEE (HE) AR « 5131|550
(RS EEE QP 750 )
77 8 e ==

ﬁﬁFﬁx%%U@?
i g2 = fE & | Hf)
EIX({ESCBIERMRRALER | RAEES | 600 E § =<
B2 AEARRE— R 107 | 650 i @ @
ES Lt HEE | 580 - <
CRBMERMER AT | @M | 600 g s 43
AR I E E72ET | 550 3 §qt
FERRTHE S -0 ?
@Rt REEAR1 10-975) 2 ; '; -
B EEES) = il oY i E
(xR il e’ ==

KIEMLIRRER B !

KEHSEREALNEUERIAERE | MR EHEFESHHEEES  £F—ABEES $50ESEEE

TH






